A

GombiSteel
\—/

Spare part information

7491.1000

7

V 4




A

GombiSteel 7491.1000
\—/

www.combisteel.com




7491.1000

www.combisteel.com



e

CombiSteel Spare part list 7491.1000
\_/

POS: Art.No.: Omschrijving: Aantal:
1 *k MAIN BODY 1
2 ** SIDE COVER 2
3 *k FRONT STAINLESS FRAME 1
4 ** ENAMEL FRAME 1
5 *k OVEN FRONT COVER 1

5A ** M8 IMBUS PIN BOLT 2
5B *k ENAMEL COVER 1
5C ** COVER ISOLATION 1
5D *k SIGHT GLASS 1
SE ** STAINLESS COVER 1
5F *k BAKELITE 1
6 ** COOKING BOILER 1
7 CS9356.0420 |COOKING STONE 1
8 ** FEEDING CABLE 1
9 *k FEEDING CABLE SOCKET 1
10 ** INTERIOR LIGHTING LAMP 1
10A CS9356.0460 |SOCKET 1
10B CS9356.0470 |LAMP 1
10C CS9999.0340 |LAMP GLASS 1
n ** ELECTRICAL MOUNTING PANEL 1
12 *k PANEL 1
13 CS9356.0440 INTERIOR LIGHTING BUTTON 1
14 CSs9356.0440 INTERIOR LIGHTING BUTTON PROTECTION 1
15 CS9356.0450 |THERMOSTAT CONTROL LAMP 2
16 CS9999.0356 THERMOSTAT BUTTON 2
17 CS9356.0430 |THERMOSTAT 2
18 CS9356.0410 RESISTANCE 2
19 ** M6 BLIND NUT 2
20 *k M6 FLAT WASHER 2
21 ** M6 SPRING WASHER 2
22 *k M6 IMBUS PIN BLOT 2
23 ** INSULATION 1
24 ** OVEN FOOT 4
## = Parts cannot be ordered separately.
** = No article number known, must be requested specifically.

www.combisteel.com




e

GombiSteel 7491.1000
v

Notities / Notes / Anmerkungen / Remarques

www.combisteel.com




D e

GCombiSteel
S ——

Combisteel BV

Lichtschip 63
3991CP Houten
The Netherlands

+31(0)30 285 00 90
info@combisteel.com
www.combisteel.com



